£5473 Environmental Geology Spring 2020  Quiz 1 (20 Pts) Name )Z E y

1 In reference to the Introductory Video exercise, briefly discuss the timing and location of the Loma Priete
earthguake. When did it occur? Where was the epicenter?
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éescrbe the tectonic setting and the primary source of the earthquake.

What was the significance of the Loma Prieta event in terms of environmental cost to humans.
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@. In reference to the Introductory Video exercise, briefly discuss the location and history of the Hanford
Reservation. Where is it located? What was is original purpose? and why is it of environmental significance.
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List and briefly discuss three of the primary environmental concerns associated with Hanford. % ; r
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zard” and “ rlsk as used in Environmental Geology.
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@ﬁ} List and discuss three tectonic-related hazards and two climate surface-related hazards associated with Oregon

that pose a risk to its citizens. >
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. Problem Soiving:
a. A straight stretch of road on an aerial photo was found to be 1000 meters long in actual grouna

P distance. The same segment on the photograph is 0.5 inches; what is the fractional scale of the
@FS/ onotograph? SHOW ALL YOUR MATH WORK.
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W ALL YOUR WORK.

4. Contour the elevations on the map below using a contour interval of 10 feet.
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